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1. Find the area of the triangle formed by the points.

(17 _1)7(_476)7(_37 _5)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DsnYAq73Svvb
https://dl.doubtnut.com/l/_IgimIdPWTnI5

2. Find the area of the triangle formed by the points.

(_]—Oa _4)a(_8? _1) and(—3, _5)

o Watch Video Solution

3. Determine whether the sets of points at collinear?

(_71,3),(—5,6) and (— 8, 8)

o Watch Video Solution

4. Determine whether the sets of points at collinear?

(a,b+ ¢), (b,c+ a) and (c,a + b)

[ o Wakl. \Ndaa CAl..ktam


https://dl.doubtnut.com/l/_IgimIdPWTnI5
https://dl.doubtnut.com/l/_ER43Aj3fc6ME
https://dl.doubtnut.com/l/_PAoV76Tyh5QP
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5. Vertices of given triangles are taken in order and
their areas are provided aside. In each case, find the

value of 'p'.

S.No. Vertices Area(sq. units )
(z)  (0,0),(p,8),(6,2) 20
(7’7’) (pap)7(576)7(5'2) 32

° Watch Video Solution

6.In the each of the following, find the value of 'a’ for
which the given points are collinear.

(27 3)7 (43 a’) and (67 T 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_PAoV76Tyh5QP
https://dl.doubtnut.com/l/_eZ3uZmnVmI5e
https://dl.doubtnut.com/l/_TIhqIj5w1r6F

7.1n the each of the following, find the value of 'a' for
which the given points are collinear.

(a,2—2a),(—a+1,2a) and ( —4 — a,6 — 2a)

o Watch Video Solution

8. Find the area of the quadrilateral whose vertices

are at

(-9, —2),(—8, —4),(2,2) and (1, — 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_TIhqIj5w1r6F
https://dl.doubtnut.com/l/_nDGwwTqohf9X
https://dl.doubtnut.com/l/_OJB9ngnEHP01
https://dl.doubtnut.com/l/_AWmM46dbjQ88

9. Find the area of the quadrilateral whose vertices

are at

(—9,0,(—8,6),(—1, —2) and ( — 6, — 3)

° Watch Video Solution

10. Find the value of k, if the area of a quadrilateral is

28 sqg.units, whose vertices are

(_47 _2)a(_3ak)a(3’ _2) and (273)

o Watch Video Solution



https://dl.doubtnut.com/l/_AWmM46dbjQ88
https://dl.doubtnut.com/l/_35VUxmDx1zbH

1. If the points A( — 3,9), B(a,b) and C(4, — 5)

are collinear and ifa + b = 1, find the a and b.

o Watch Video Solution

12. Let P(11, 7), Q(13.9, 4) an dR(9.5, 4) be the mid
points of the sides AB, BC and AC respectively of
/A ABC. Find the coordinates of the vertices A, B,
and C. Hence find the area of A ABC and compare

this with area of A PQR.

o Watch Video Solution



https://dl.doubtnut.com/l/_A4uHoag0UrEc
https://dl.doubtnut.com/l/_JchvLYkh8EYV

13. In the figure, the quadrilateral swimming pool
shown is surrounded by concrete patio. Find the area

of the patio.

C(6, 10)

° Watch Video Solution

14. A triangle shaped glass with vertices at
A(—-5, —4),B(1,6) and C(7, —4) has to be

painted. If one bucket of paint covers 6 square feet,


https://dl.doubtnut.com/l/_IJ1rsdtHTaw4
https://dl.doubtnut.com/l/_pvNHW2Y3qvyX

how many buckets of paint will be required paint is

applied.

o Watch Video Solution

15. In the figure, find area of

triangle AGF

o Watch Video Solution



https://dl.doubtnut.com/l/_pvNHW2Y3qvyX
https://dl.doubtnut.com/l/_gR6Ky20mFtiL

16. In the figure, find area of

triangle FED

o Watch Video Solution

17.In the figure, find the area of

quadrilateral BCEG.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZOirw85x2JJU
https://dl.doubtnut.com/l/_gLQCDXlYiZlP

1. What is the slope of a line whose inclination with

positive direction of x-axis is

90°

o Watch Video Solution

2. What is the slope of a line whose inclination with
positive direction of x-axis is

OO

o Watch Video Solution



https://dl.doubtnut.com/l/_gLQCDXlYiZlP
https://dl.doubtnut.com/l/_ToVUNhCgtApU
https://dl.doubtnut.com/l/_upgpw03apj9R

3. What is the inclination of a line whose slope is

0]

° Watch Video Solution

4. What is the inclination of a line whose slope is

1

o Watch Video Solution

5. Find the slope of a line joining the points

(5, v/5) with origin


https://dl.doubtnut.com/l/_upgpw03apj9R
https://dl.doubtnut.com/l/_lJ0k1tZU77Gt
https://dl.doubtnut.com/l/_YMmIgEoK5o9T
https://dl.doubtnut.com/l/_lrt2uOIUElpj

° Watch Video Solution

6. Find the slope of a line joining the points

(sinf, — cosf) and ( — sin6, cos )

o Watch Video Solution

7. What is the slope of a line perpendicular to the
line joining A(5, 1) and P where P is the mid-point of

the segment joining (4, 2)) and (-6, 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_lrt2uOIUElpj
https://dl.doubtnut.com/l/_BtTtfqprYZfZ
https://dl.doubtnut.com/l/_7VuBRkxclcSN
https://dl.doubtnut.com/l/_3ZcslyeQJhLe

8. Show that the given points are collinear:

(—3, —4),(7,2) and (12, 5)

° Watch Video Solution

9. If the three points (3, — 1), (a, 3), (1, — 3) are

collinear, find the value of a.

o Watch Video Solution

10. The line through the points ( — 2, a) and (9, 3)

has slope _T Find the value of a.

o Watch Video Solution



https://dl.doubtnut.com/l/_3ZcslyeQJhLe
https://dl.doubtnut.com/l/_1Xu1zTRAKa5t
https://dl.doubtnut.com/l/_jyWyk2wciRw0

11. The line thorugh the point ( — 2,6) and (4, 8)
perpendicular to the line through the points

(8,12) and (x, 24).Find the value of x.

o Watch Video Solution

12. Show that the given points form a right angled
triangle and check whether they satisfies pythagoras

theorem.

A(1, —4),B(2, — 3) and C(4, — 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_jyWyk2wciRw0
https://dl.doubtnut.com/l/_eYYl0B8E0H89
https://dl.doubtnut.com/l/_VLQ9i1PNxIui
https://dl.doubtnut.com/l/_zpW8OnYvKJZb

13. Show that the given points form a right angled
triangle and check whether they satisfies pythagoras
theorem.

L(0,5), M(9,12) and N(3, 14)

o Watch Video Solution

14. Show that the given points form a parallelogram:

A(2.5,3.5), B(10, — 4), C(2.5, — 2.5) and D( — 5, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_zpW8OnYvKJZb
https://dl.doubtnut.com/l/_t76exktsOy25

15. If the points

form a parallelogram then find the value of x and y.

° Watch Video Solution

16. Let
A(3, —4),B(9, —4),C(5, —7) and D(7, — 7).

Show that ABCD is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_iE0yzPBHNzRD
https://dl.doubtnut.com/l/_RxZ1h2Cq58qd

17. A quadrilateral has vertices at
A(—4, —2),B(5, —1),C(6,5) and D( — 7,6).
Show that the mid-point of its sides form a

parallelogram.

° Watch Video Solution

1. Find the equation of a straight line passing

through the mid-point of a line segment joining the
points (1, — 5), (4, 2) and parallel to

X axis


https://dl.doubtnut.com/l/_kFKIdRO8Ubhj
https://dl.doubtnut.com/l/_yjg9i1fvwDWU

° Watch Video Solution

2. Find the equation of a straight line passing
through the mid-point of a line segment joining the
points (1, — 5), (4, 2) and parallel to

Y axis

° Watch Video Solution

3. The equation of a straight line is
2(x —y) + 5= 0. Find its slope, inclination and

intercept on the Y axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_yjg9i1fvwDWU
https://dl.doubtnut.com/l/_cdKA97wLJakm
https://dl.doubtnut.com/l/_D5R6VTe1wPpS

4. Find the equation of a line whose inclination is

30° and making intercept -3 on the y axis.

° Watch Video Solution

5. Find the slope and 'y intercept of

\/§+(1—\/§)y:3

o Watch Video Solution



https://dl.doubtnut.com/l/_D5R6VTe1wPpS
https://dl.doubtnut.com/l/_8GvWOtEtGXoV
https://dl.doubtnut.com/l/_KT90oJI6tm7x

6. Find the value of 'a, if the line through

(—2,3) and (8, 5) is perpendicular to y = ax + 2.

o Watch Video Solution

7. The hill in the form of a right triangle has its foot
at (19, 2). The inclination of the hill to the ground is
45°. Find the equation of the hill joining the foot

and top.

o Watch Video Solution



https://dl.doubtnut.com/l/_rzg1EdxzOSzl
https://dl.doubtnut.com/l/_VswzDMTKK4Wi

8. Find the equation of a line through the given pair

of points (x1, ¥1), (2, ¥2)
5 2 a (=L o
3 ) M\ T

o Watch Video Solution

9. Find the equation of a line through the given pair

of pOintS (wla yl)’ (w27 y2)

(2,3) and (— 7, — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_BGNdkhmNlmbB
https://dl.doubtnut.com/l/_xlQzQsQl0Cev

10. A cat is located at the point ( — 6, —4) in xy
plane. A bottle of milk travelling through shortest
possible distance. Find the equation of the path it

needs to take its milk.

° Watch Video Solution

11. Find the equation of the median and altitude of
AN\ ABC through A where the vertices are

A(6,2), B( — 5, — 1) and C(1,9).

o Watch Video Solution



https://dl.doubtnut.com/l/_GjMiycYYWkIf
https://dl.doubtnut.com/l/_k86QSXu69HMf

12. Find the equation of a straight line which has

—9
slope T and passing through the point ( — 1, 2).

o Watch Video Solution

13. You are downloading a song. The percent y (in
decimal form) of mega bytes remaining to get
downloaded in x seconds is given by y = 0.1z + 1.

after how many seconds will 75% of the song gets

downloaded?

o Watch Video Solution



https://dl.doubtnut.com/l/_IFIcHk87dVmN
https://dl.doubtnut.com/l/_V2u6UpxTt8HO

14. You are downloading a song. The percent y (in
decimal form) of mega bytes remaining to get
downloaded in x seconds is given by y = 0.1z + 1.

find the total MB of the song.

° Watch Video Solution

15. You are downloading a song. The percent y (in
decimal form) of mega bytes remaining to get
downloaded in x seconds is given by y = 0.1z + 1.

after how many seconds will 75% of the song gets

downloaded?

° Watch Video Solution



https://dl.doubtnut.com/l/_GEkQwkisyNKR
https://dl.doubtnut.com/l/_hw9YwvaLOVZF

16. You are downloading a song. The percent y (in
decimal form) of mega bytes remaining to get
downloaded in x seconds is given by y = 0.1z + 1.

after how many seconds the song will be

downloaded completely?

° Watch Video Solution

17. Find the equation of the line whose intercepts on
the x and y axes are given below.

4,6

o Watch Video Solution



https://dl.doubtnut.com/l/_hw9YwvaLOVZF
https://dl.doubtnut.com/l/_8EJyeOtcYmK1
https://dl.doubtnut.com/l/_86lclRqCLdJy

18. Find the equation of the line whose intercepts on

the x and y axes are given below.

-5, (3)/(4)

o Watch Video Solution

19. Find the intercept made by the following lines on
the coordinate axes.

3x-2y-6=0'

° Watch Video Solution



https://dl.doubtnut.com/l/_86lclRqCLdJy
https://dl.doubtnut.com/l/_oIfRXXnesaym
https://dl.doubtnut.com/l/_B9vLlBg9vQ5j

20. Find the intercept made by the following lines on
the coordinate axes.

4r +3y+12 =10

° Watch Video Solution

21.Find the equation of a straight line
Passing through (1, -4) and has intercepts which are

in the ratio 2:5

o Watch Video Solution



https://dl.doubtnut.com/l/_1ROCljhl6Qzs
https://dl.doubtnut.com/l/_90wqt65rc57X

22.Find the equation of a straight line
Passing through (-8, 4) and making equal intercepts

on the coordinate axes.

o Watch Video Solution

1. Find the slope of the following straight lines

By — 3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_xcXSvuVk5nPw
https://dl.doubtnut.com/l/_cq21rWOlOCj3
https://dl.doubtnut.com/l/_032NJ91cBnJO

2.Find the slope of the following straight lines

e S —
ST

o Watch Video Solution

3. Find the slope of line which is

paralleltoy = 0.7z — 11

o Watch Video Solution

4. Find the slope of line which is

perpendicular to thelinexz = — 11

° Watch Video Solution



https://dl.doubtnut.com/l/_032NJ91cBnJO
https://dl.doubtnut.com/l/_KQPOpgL4nTlQ
https://dl.doubtnut.com/l/_ZbC6eycxKWHh

5. Check whether the given lines are parallel or

perpendicular

T Y 1 2z Y I
3—|—4—|—7—0and 3—|-2—|-10—0

o Watch Video Solution

6. Check whether the given lines are parallel or

perpendicular

br +23y+14 =0 and 23z —5y+9 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZbC6eycxKWHh
https://dl.doubtnut.com/l/_Qz7BdvKcI9RP
https://dl.doubtnut.com/l/_u52KCpC46Ad7

7. If the straight lines
12y = — (p+ 3)x + 12,122 — Ty = 16 are

perpendicular then find 'p'.

° Watch Video Solution

8. Find the equation of a straight line passing
through the point P( — 5, 2) and parallel to the line

joining the points Q(3, — 2) and R( — 5, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_Wo44Q02BKXgZ
https://dl.doubtnut.com/l/_p4XhUUH4Dol2

9. Find the equation of a line passing thorugh
(6, — 2) and perpendicular to the line joining the

point (6,7) and (2, — 3).

° Watch Video Solution

10. A( —3,0),B(10, — 2) and C(12,3) are the
vertices of /A ABC. Find the equation of the

altitude through A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_Sb3JvIbo5jlQ
https://dl.doubtnut.com/l/_DLWYYVeQtQV7

11. Find the equation of the perpendicular bisector of
the line joinging the point

A( —4,2) and B(6, — 4).

° Watch Video Solution

12. Find the equation of a straight line through the
intersection of lines 7x 4+ 3y = 10, 52 — 4y = 1 and

parallel to the lines 13z + 5y 4+ 12 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_PfX0f9PthPvf
https://dl.doubtnut.com/l/_zbv9CBQVdrft

13. Find the equation of a straight line through the
intersection of lines 3= 4+ 2y = 10 and bx — 6y = 2

and perpendicular to the line 4z — 7y + 13 = 0.

° Watch Video Solution

14. Find the equation of a straight line joining the
point of intersection of
3r +y+2=0and x — 2y — 4 = 0to the point of

intersection of 7z — 3y = — 12 and 2y = = + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_rCVCcqAFJDlv
https://dl.doubtnut.com/l/_c9UBhqRd2i51

15. Find the equation of a straight line through the
point of intersection of the lines
8r + 3y = 18,4z 4+ 5y = 9 and bisecting the line

segment joining the points (5, — 4) and ( — 7, 6).

° Watch Video Solution

1. The area of triangle formed by the points

(—5,0),(0, —5) and (5,0)is

A. 0 sg. units


https://dl.doubtnut.com/l/_4JyOa11fhHtb
https://dl.doubtnut.com/l/_dN0SKS1saVrW

B. 25 sqg. units

C. 5 sq. units

D. None of these

Answer: B

° Watch Video Solution

2. A man walks near a wall, such that the distance
between him and the wall is 10 units. Consider the

wall to be the Y axix. The path travelled by the man is

Ax =10


https://dl.doubtnut.com/l/_dN0SKS1saVrW
https://dl.doubtnut.com/l/_ATAT7z8Yxd0Z

Cx=0
D.y =10
Answer: A

° Watch Video Solution

3. The straight line given by the equation z = 11 is

A. parallel to X axis

B. parallel to Y axis

C. passing through the origin


https://dl.doubtnut.com/l/_ATAT7z8Yxd0Z
https://dl.doubtnut.com/l/_WzO38DoSkMbd

D. passing through the points (O, 11)

Answer: B

° Watch Video Solution

4.If (5,7),(3,p) and (6, 6) are collinear, then the
value of p is

A3

B. 6

C.9


https://dl.doubtnut.com/l/_WzO38DoSkMbd
https://dl.doubtnut.com/l/_Dmaim0hcdQD2

Answer: C

o Watch Video Solution

5. The point of intersection of
3r —y=4and ¢z +y = 8is

A. (5, 3)

B.(2,4)

C.(3,5)

D. (4, 4)

Answer: C



https://dl.doubtnut.com/l/_Dmaim0hcdQD2
https://dl.doubtnut.com/l/_qtecjXJyR6Wb

| W Watch Video Solution

1
6. The slope of the line joining (12, 3), (4, a) is 3

The value of 'a' is

Al

B.4

D. 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qtecjXJyR6Wb
https://dl.doubtnut.com/l/_MReqSFhUcvwl
https://dl.doubtnut.com/l/_zB77p3cHPNkS

7. The slope of the line which is perpendicular to a

line joining the points (0,0) and ( — 8, 8) is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zB77p3cHPNkS

1
8.If the slope of the line PQ is — then slope of the

perpendicular bisector of PQ is

A /3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sAFFm3OPI0fv

9.1f Ais a point on the Y axis whose rdinate is 8 and

B is a point on the X axis whose abscissa is 5 then

the equation of the line AB is

A.8x + 5y = 40
B.8x — by = 40
Cx =28
D.y=25
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9n1FbvHeRYZd

10. The equatin of a line passing through the origin

and perpendicular to theline 7z — 3y +4 =20is

ATr —3y+4=0

B.3x —7Ty+4=20

C3x+7y=20
D.7x — 3y =10
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1IuMFDDqsYbI

11. Consider four straight lines

(i) =3y =4z + 5 (ii)ly: 4y =3z — 1

(Gii)lz: 4y + 3y = 7 (iv)lydz + 3y = 2

A.l; and [, are perpendicular

B.l; and [l are parallel

C.ly and I, are perpendicular

D.ly and I3 are parallel

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_azipkNAGZ3wA

12. A straight line has equation 8z = 4z + 21. Which

of the following is true

A.The slope is 0.5 and the y intercept is 2.6

B. The slope is 5 and the y intercept is 1.6

C.The slopeis 0.5 and the y intercept is 1.6

D. The slope is 5 and the y intercept is 2.6.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_U5lQg4mHZsxj

13. When proving that a quadrilateral is a trapezium,

it is necessary to show

A. Two sides are parallel

B. Two parallel and two non-parallel sides

C. Opposite sides are parallel

D. All sides are of equal length.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_I8muPKo6nXk7

14. When proving that a quadrilateral is

parallelogram by using slopes you must find

A. The slopes of two sides

B. The slopes of two pair of opposite sides

C.The length of all sides

D. Both the lengths and slopes of two sides.

Answer: B

° Watch Video Solution

15. (2, 1) is the points of intersection of two lines


https://dl.doubtnut.com/l/_CFHZnFEqgXd3
https://dl.doubtnut.com/l/_psme30ByZq6Z

Az —-—y—3=0,3z—y—7=0

Bx+y=3,3x+y=7

Cdaxr+y=3,z+y=7

Dz+3y—3=0,z—y=7

Answer: B

° Watch Video Solution

1. PQRS is a rectangle formed by joining the points

P(-1, —1),Q(-1,4), R(5,4) and S(5, — 1).


https://dl.doubtnut.com/l/_psme30ByZq6Z
https://dl.doubtnut.com/l/_0ZFuxXThv5bt

A, B, C and D are the mid points of PQ, QR, RS and SR
respectively. Is the quadrilateral ABCD a square, a

rectangle or a rhombus? Justify your answer.

° Watch Video Solution

2. The area of triangle is 5 sq. units. Two of its
vertices are (2,1) and (3, — 2). The third vertex is
(X, y) where y=x+3. Find the coordinates of the third

vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZFuxXThv5bt
https://dl.doubtnut.com/l/_ghvjtothl0lq

3. Find the area of a triangle formed by lines

3r+y—2=0,524+2y—3=0and 2x —y—3 =0

o Watch Video Solution

4., If vertices of a quadrilateral are at
A(—5,7),B(—4,k),C(—1, — 6) and D(4, 5)

and its area is 72 sq. units. Find the value of k.

o Watch Video Solution

5. Without using distance formula, show that the

points (—2, —1),(4,0),(3,3) and ( —3,2) is


https://dl.doubtnut.com/l/_jUGXD1Pl1G6z
https://dl.doubtnut.com/l/_70vuZFXSgTqU
https://dl.doubtnut.com/l/_FmlAJqNY2Ug9

vertices of a parallelogram.

o Watch Video Solution

6. Find the equations of the lines, whose sum and

product of intercepts are 1and -6 respectively.

o Watch Video Solution

7. The owner of a milk store finds that, he can sell 980
litres of milk each week at ¥14/litres and 1220 litres of

milk each week at F16/litre. Assuming a linear


https://dl.doubtnut.com/l/_FmlAJqNY2Ug9
https://dl.doubtnut.com/l/_gfo8cFAR0AjF
https://dl.doubtnut.com/l/_ZcVVGzUDHue2

relationship between selling price and demand, how

many litres could he sells weekly at ¥17/litres?

o Watch Video Solution

8.Find the image of the points (3, 8) with respect to
the line x + 3y = 7 assuming the line to be a plane

mirror.

o Watch Video Solution

9. Find the equation of a line passing through the

point of intersection of the lines


https://dl.doubtnut.com/l/_ZcVVGzUDHue2
https://dl.doubtnut.com/l/_hhvWvE7Lm6UT
https://dl.doubtnut.com/l/_K464d8RzS9l4

dr +Ty—3 =0and 2z —3y+ 1 =0 that has

equal intercepts on the axes.

o Watch Video Solution

10. A person standing at a junction (crossing) of two
straight paths represented by the equations
2 —3y+4=0and 3z +4y—5=0 seek to
reach the path whose equation is 6z — 7Ty + 8 = 0
in the least times. Find the equation of the path that

he should follow.

° Watch Video Solution



https://dl.doubtnut.com/l/_K464d8RzS9l4
https://dl.doubtnut.com/l/_gc3MNDksglS0

Government Exam Questions

1. The inclination of a line whose slope is 1is

A.0°

B.30°

C.45°

D.60°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KCAZtXmyiDWT

2. The vertices of a triangle are
A(—-1,3),B(1, — 1) and C(5,1). Find the length

of the median through the vertex C.

° Watch Video Solution

3. What is the slope of the line whose inclination is

30°7?

o Watch Video Solution

4. Using slope concept show that the points

(1, —4),(2, —3) and (4, —7) form a right


https://dl.doubtnut.com/l/_zkJ9drtzFlNK
https://dl.doubtnut.com/l/_ji59J8G2FbiS
https://dl.doubtnut.com/l/_cXP59FtxaK8j

angled triangle.

o Watch Video Solution

Additional Question Answers

1. If

A(-57,B(—4, —5),C(—1, —6) and D(4,5)
are the vertices of a quadrilateral, find the area of

the quadrilateral ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_cXP59FtxaK8j
https://dl.doubtnut.com/l/_YgQvrn2nzp1W

2. If the points
A(6,1), B(8,2),C(9,4) and D(P,3) are the
vertices of a parallelogram, taken in order. Find the

value of P.

° Watch Video Solution

3.f A(— 2, — 1), B(a,0),C(4,b) and D(1,2) are
the vertices of a parallelogram, find the values of a

and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_55VH4PE1TYx9
https://dl.doubtnut.com/l/_ZzCSI0myONow

4. Find the area of the quadrilateral whose vertices

taken in order, are

(—3,2),(54),(7, —6) and (-5, —4).

° Watch Video Solution

5. Find the area of the triangle formed by the points

P(—15,3),Q(6, —2), and R( — 3, 4).

o Watch Video Solution

6. Find the value of k if the points

A(2,3),B(4,k) and C(6, — 3) are collinear.


https://dl.doubtnut.com/l/_gfT237eg8uRY
https://dl.doubtnut.com/l/_1QChy0gcNNaf
https://dl.doubtnut.com/l/_dfATRDobcWBC

° Watch Video Solution

7. Find the a relation between x and y such that the
point (x, y) is equidistant from the points

(7,1) and (3, 5).

o Watch Video Solution

8. Show that the points
(1,7),(4,2),(—1, —1) and ( —4,4) are the

vertices of a squre.

° Watch Video Solution



https://dl.doubtnut.com/l/_dfATRDobcWBC
https://dl.doubtnut.com/l/_j7ZIwoGZ4NO4
https://dl.doubtnut.com/l/_ORCHQQFzgP93

9. Find the coordinates of the points of trisection
(i.e., points dividing in three equal parts) of the line
segment joining the points

A(2, —2) and B( — 17, 4).

o Watch Video Solution

Unit Test

1. A man walks near a wall, such that the distance

between him and the wall is 10 units. Consider the

wall to be the Y axix. The path travelled by the man is


https://dl.doubtnut.com/l/_OPT516E0hY64
https://dl.doubtnut.com/l/_6d7L0dcns6Rp

B.y =10

Cx=0

D.y=20
Answer: A

° Watch Video Solution

2. The point of

3r —y=4and z +y = 8is

A. (5, 3)

intersection

of


https://dl.doubtnut.com/l/_6d7L0dcns6Rp
https://dl.doubtnut.com/l/_DybiyJBs7iQD

B. (2, 4)

C.(3,5)

D. (4, 4)

Answer: C

° Watch Video Solution

3. A straight line has equation 8x = 4z + 21. Which

of the following is true

A.The slope is 0.5 and the y intercept is 2.6

B. The slope is 5 and the y intercept is 1.6



https://dl.doubtnut.com/l/_DybiyJBs7iQD
https://dl.doubtnut.com/l/_XfiTeUEF0gCz

C.The slope is 0.5 and the y intercept is 1.6

D. The slope is 5 and the y intercept is 2.6.

Answer: A

° Watch Video Solution

4. The equatin of a line passing through the origin

and perpendicular to theline 7z — 3y +4 = 0is

ATr —3y+4=20

B.3z —Ty+4=0

C3x+Ty=20


https://dl.doubtnut.com/l/_XfiTeUEF0gCz
https://dl.doubtnut.com/l/_a2pKln0rJkyG

D.7Tx — 3y =10

Answer: C

o Watch Video Solution

5.The straight line given by the equation x = 11 is

A. parallel to X axis

B. parallel to Y axis

C. passing through the origin

D. passing through the points (O, 11)

Answer: B


https://dl.doubtnut.com/l/_a2pKln0rJkyG
https://dl.doubtnut.com/l/_Deyrj7k6QuJn

° Watch Video Solution

6. The line through the points ( — 2, a) and (9, 3)

—1
has slope 5 Find the value of a.

o Watch Video Solution

7. Find the value of k, if the area of a quadrilateral is

28 sg.units, whose vertices are

(_4a _2)7(_37k)7(3’ _2) and (273)

° Watch Video Solution



https://dl.doubtnut.com/l/_Deyrj7k6QuJn
https://dl.doubtnut.com/l/_EfDMbhVNhUlQ
https://dl.doubtnut.com/l/_z46U7NIbU0p1
https://dl.doubtnut.com/l/_YkBzHKX5piFT

8. What is the slope of a line perpendicular to the
line joining A(5, 1) and P where P is the mid-point of

the segment joining (4, 2)) and (-6, 4).

° Watch Video Solution

9. Find the equation of a line whose inclination is

30° and making intercept -3 on the y axis.

o Watch Video Solution

10. Find the equation of the perpendicular bisector

of the line joinging the point


https://dl.doubtnut.com/l/_YkBzHKX5piFT
https://dl.doubtnut.com/l/_LEn2wXD8lSRQ
https://dl.doubtnut.com/l/_Bslx4F8Owrkj

A( —4,2) and B(6, — 4).

o Watch Video Solution

11. A quadrilateral has vertices at
A(—-4, —2),B(5, —1),C(6,5) and D( — 7, 6).
Show that the mid-point of its sides form a

parallelogram.

o Watch Video Solution

12. Find the equation of a straight line joining the

point of intersection of


https://dl.doubtnut.com/l/_Bslx4F8Owrkj
https://dl.doubtnut.com/l/_aj1bBvV61mqM
https://dl.doubtnut.com/l/_jNJ0HTTAo33D

3r +y+ 2 =0 and z — 2y — 4 = 0 to the point of

intersection of 7z — 3y = — 12 and 2y = = + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_jNJ0HTTAo33D

